Irrational Numbers Notes


Name _____________________

· Rational Number: ________________________________________________________________

· Examples: ________________________________________________________________

· Irrational Number: _______________________________________________________________

· Examples: ________________________________________________________________

Rational versus Irrational:

	
	Number
	Rational or Irrational?
	Reason

	1
	2.345
	
	

	2
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Square Roots
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	Length of Side
	
	
	


· Perfect Squares: _______________________________________________________________

· Examples: ________________________________________________________________

1. The square roots of 16 are   ____ and ____ because (     )2 and (      )2 = _____
2. The square roots of 81 are   ____ and ____ because (     )2 and (      )2 = _____
3. The square roots of 4 are     ____ and ____ because (     )2 and (      )2 = _____
Find the square root:
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Perfect Squares

	Perfect Squares
	1
	4
	
	
	
	
	
	

	Square Root
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	Perfect Squares
	
	
	
	
	
	
	
	

	Square Root
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Estimate to the nearest integer
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Cube Roots

A perfect cube has three identical integer factors.

For example:  8 = 2 ( 2 ( 2 = 23    and  -8 = -2 ( -2 ( -2 = -23  or (-2) 3  

Therefore, 2 is the cube root of 8 and -2 is the cube root of -8, 

or rather  [image: image48.png]V8=2 and V-8= —





Identify the cube root of the following perfect cubes:

1. The cube root of 27 is  
 ____ 
because (     )3 = _____
2. The cube root of -27 is  
 ____ 
because (     )3 = _____
3. The cube root of 216 is  
 ____ 
because (     )3 = _____
4. The cube root of -216 is  
 ____ 
because (     )3 = _____
Simplify each expression
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